Example 1

before class begins. Delays
& caused by a broken traffic
light slow down traffic to 20
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Example 2

Sunday, August 23, 2015 12:33 PM
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car leaves skid marks on _ J

the highway 320 m long. -y
HAssuming a deceleration 0 AX =3 9\6 m
maximum for rubber tires = y 4 O
g |on dry pavement), X Xo L Ox AX

estimate the speed of the 3
car just before braking? Vx ° -T~ P X AX

W, = FQ (1o m|s®) (320m
Vie= 80 I/s
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Example 3
Sunday, August 23, 2015 12:33PM M‘_-— ‘SM,S vA = o

—va;z-Smls*
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E 3)On a highway at night you see a stalled car and A x = ? A t = ?
brake to a stop. As you brake, the velocity of your car - ‘

decreases at a rate of 5.0 m/s?.

a)If your initial velocity is 15 m/s what is your stopping

distance?

b)How much time does it take you to stop?

W) £= a) Ax="?
)/' v, + 0 M=Kt +ay
—vx. AX= (15 mId) (38) + ¥ (-SmisY(3s)
< ___ﬂ_g’#fs,, AX=45m — 2.5 m

bt =38 l4x=22.5 M)
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Example 4 | . ‘P Qz = -9 8’”’ 32
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b) Vz =
1}7 z Vg, + aa y of
,Y_L‘ (10. 016 m)s) + (- 5IWs) (1.59)
-4.¢3 ms j

Q) Ag:\l,,x-v-tazz:‘
_— = (&

v,.b -AAZ %a,t
V’o“ }l-‘iq X
Vy,= ';";‘$+-L(+ths’<(\sg)

M ole1m|s % 0. Ol)nj

C) Bfua=7

)/-' Vg, + 241 A?

TTL - Yy, = i)o,ommls)i
I~ 3 Ay 2 (19.3m/s>




Example 5

5)A woman is reported to have
! fallen 144 ft from the 17t
| floor of a building, landing on
| a metal ventilator box, which
she crushed toa depth of
nl

ge
while in contact with the box,

and
c) the time it took to crush the

Qo= - 37 3nls)*
2 (~.4573m)

Qs 140. 57 m|s™
A=Yy, + a9 &
b = Vg. =t (424- 3IMs
K
A =.63128
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0\41 = |- %Smls‘

4= 144 % 33';3; ==43.9n

7 a)v, %Qa,A;

FEY)
Yy = [ G9-9ms9) (143 4m)

Yy =213 ms ]|

ado. 57 MJs?



@ |ax= Y.k + ot

— V= Y,

y= &%
\) -'-V = = v)lo
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[ Yt Wx, 1.‘] @ m= W, t axtj
O|ax= x
Mo o | N{,’ A
’ ‘ =[x W
Ax= Puataxt + W) * AX ( p) )J(:
)| =AX (2
AX‘(‘ZLVx,"'O\Xt)t \ Vxt W)
] 1T V=W, + 4 £
= W, + Qx| px (Vxﬂ/x,)

Vi = Yxo + A0y AX (Vx\“'vx.)
W, = A0x Ax@‘,@)
(Vx*vx.;) (W~ U.) = 26 AX
Vi - Vx: = LGy AX
@ ]v;= Ve, + LGy AX I
No X

No Wy




